Insted tag N°

Signature and date

Tag N° orig

Mounting system SMS-312. The segment of the warktable from 2 typical secfions for 36 PV modules in the middle of the raw

+ +
) ) 6340 6340
revious fype section
uL\ 3175 3175 3175 next type section
\
PL-1 Pl -1 PL-1 -1 PL-1 PL-1 ;
= £ Je
> =
Mb-1 Mb-1 of &
Dg-1 ~_Dg-1 Dg-1 ~_Dg-1 Dg-1 g g
> =
2 Pl-2 ) P2 -
= / E/ / l/ =
] N N —ed——=d_—— 1
== ESE T Mb-1 'S it koot A _l_
> = j‘g
_preyious fype secﬁuﬂ_l 8
\
< <&
Bs-1 Mb-1 Mb-1 Bs-1 -
1| & & ¥ £ & & & & & —x & & _t & & & & & _§ 1} _F
< PL-2 PL-2 PL-2 PL-2 PL-2 S
next| type section
<< <<
Dg-1 Dg-1 Dg-1 Dg-1 Dg-1
| Mb-1 wa g &
< <<
< F >
- PL-1 PL-1 PL-1 PL-1
i Mb-1 Mb-1
3175 3175 3175
6351 6351
A=) 2
10 I——
revious type seclion 6340 6340
3175 . 3175 L 3175 X )
’ Ag-1 Ag-2 Ag-2 -1 next type section
1 1 Ay Z AY L A
Da-1 5 6 Mb-1 Bt M- Dot
Bs-1 <
P12 > g
Ground PL-2 PL-2 PLl-2 PL-2
level d I d
YUY Y Y Y R /\//§77/ //TI/?//Y?//?/?\W Y Y Y R Y YRR Y Y YUY YL | UYL 2
<
< B
T 3175 NA 3175 i 3175
6351 6351
-
Germany: Snow load 0,65 kPa, Wind load 0,39 kPa
Mounting system SMS-312EW (132 cell)
Change | Plots | Sheet IN° doc. Dafa
10.2021 Stage Sheet Sheets
Chief desiner | Finko Mounting system for PV modules p 1
Originafed by | Shyrin ) .
The segment of the worktable from 2 fypical sections S L A R
for 36 PV modules in the middle of the row @- SK

A3




100"
I
840 14O 440 1840
960 %0 20
L,LD Mh-1 Mb—1 440
840 10 PV Py o 440 B4p
10 —~
8 780 _L— —~—_780
()60 | —~ K
Lh0 Mb-1 || 440
3 PV ]
Mb-1 " Mb-1
= @
—— 2 2
800
— Bs-1
3 = & 3
* PL-1 = 3 S
K PL-2 ™ ~ PL-2 g
! — | # oL !
N% 7 %N —~ 7 4 ~ v 7 % > 7
AAFEFRFRHIFI I FEFIIF EFIFEFIFEFIFEFREFEIFAIFEIFAN £ AR AN B IS PSSR A FEFAAIMEEFEFEFEIFEIFIFRIPSIFSIE RV ANEAN S AAASEESIFNIAANSS
2 2
g g g g
1220* 3150 1070* 1070* 3150 1220*
5440 5440
1. Arrange racks-piles in accordance with the ferrain
Elements specification of a typical table section for 72 PV modules 2.The difference in the level of the ground surface is =200 mm, at that the difference in the level of the tap of the piles within one guide beam is +20 mm
= 3.The inclination of the piles from the verfical axis is +3° in any direction, at that displacement of the fop of the piles from the vertical axis in the longitudinal directian
=) is 20 mm, in fthe fransverse direction is +20 mm
= [fem Designation Name Q-ty U\':‘?QET Notes 4. The distance in the longitudinal direction between neighboring piles is 20 mm, at that the distance between the first and last piles within one guide beam is +20 mm
9 a 5.PV module angle of inclinafion is 12° +1°
E PL-1 Pile C100x50x15x2 5 10 hdg 6.Distance from the PV madule bottom edge fo the ground surface level is 8004100 mm.
o PL-2 Pile (100x50x15%2.5 10 hdg
w} .
= Dg-1 Diagonal (120x50x15%2.5 10 hdg Germany: Snow load 0,65 kPa, Wind load 0,39 kPa
=)
5 Bs-1 Back suppart US0%25x2 4 hdg
CU .
E Mo- Main beam (100:50xT5x2 24 hdg Mounting system SMS-312EW (132 cell)
g .
= Ag-1 Connecting element Ag.75%5 24 hdg Change | Plots | Sheet |N° doc.| Signature | Data
ki Ag-2 Connecting element Ag.75%5 24 hdg 102021 Stage Sheet Sheets
DIN 933 Bolt M12x30 as a sef (2 washers+sp.washer+nuf 10 A2-70 Chief desiner | Finko Mounfing sysfem for PV modules p ?
=i
S (lamp End clamp as a set 48 alum Orighnated by Shyrin
= Clamp Mid.clamp as a sef 120 alum Profi T P
rofile 2-2. Specification s> L AR
&) P ' SK

A3




14_|

Insted tag N°

Signature and date

Tag N° orig

A 7H\ﬂi PV
PL-1 \ ‘ I Bs-1 Bs-1 || P
ERRN IR |/ PL-2
\ I A
Nl \
Balt M12x30 L/@fﬁ Bolt M12x30 ‘
(2 washer+s.washer+nuf) } } Ground (2 washer+s.washer+nut) } } Ground
1R l;Evel N Level alf M0 Bolt M12x30
N N 0 X (2 washer+s.washer-+nut)
-/ \ | \ \ / \ \ \ \ {2 washer+s.washer+nut)
//\//\/\ /\//\/ N //\///\/// ‘ /\//\/ N
| \ ||
| \ ||
IEEl ||
| \ ||
| \ ||
|l ||
| \ ||
| \ ||
| \ S || S
1| = | 2 Clamp Plate
| \ ||
\ | ||
|l ||
| \ || PV PV PV PV
| \ ||
| \ ||
| || Mb-1 Mb-1 Mb-1
| \ ||
| \ ||
Il ||
| \ || Bolt M12x30
| | (2 washer+s.washer-+nut) Bolt M12x30
(2 washer+s.washer+nut]
| Dg-1 Pt Pl
1 PL-2 Pl-2
1. Bolt forque M12 min 44 Nm - max 56 Nm
2. Bolt forque M8 on clamps min 10 Nm - max 16 Nm
Bolt M12x30 3. Dimensions marked with ™" are spesified locally upon the completion of the work
{2 washer+s.washer-+nut)
Germany: Snow load 0,65 kPa, Wind load 0,39 kPa
}\ Bolt M12x30 ,
L ‘} (2 washer+s.washer+nut) MOUﬂhﬂg SYSTEIT] SMS-312EW (132 cell)
PL-1 | Bs-{ Change | Plofs | Sheet |N° doc.] Signature | Data
PL-2 A 10.2021 Stage Sheet Sheets
Chief desiner | Finko Mounting system for PV modules p ;
Originated by | Shyrin
SteLARs«

A3




	1
	2
	3

